chg 9] BaAAPEE ABCD o4
AB = 6cm , BC = 10em , /BCD =
120° & wj, AC o] Zo]=?

O V67 @ V71
® 219 @ /86
® V95



2.

ohS %13} o] Wre] wkAl g o)zt A
3cm 0] AT @Ho] o] 2 7ho] 37
7} 60 Q1 Ee] g Fo1H?

D 6v2rcm? @ 7V3rcmd ® 9vV3rcm?

@ 11 V27w em? ® 27mcem3



3. o I"olA AB = 300m ©]1, A A HlA Aol Hj7] ¢ A -
Atk Zto] 45° 4 W), 41| o] CD & o7

C

@D 150 V3m @ 150V2m ® 150m
@ 300V3m ® 300m



0] 100m g1 Aol A vjo] Fu]S Welrt & zhe] 271k 60° Art.

o =

191k o 7} 10 2 <t 2 A2l Fohw?

D
! \ 30° |
\\ %0 100m
! ‘
B (G,
® 503 @ 1252‘/§ 3
@ 1753 5 2153

2 3

02 5 oA "] SujE WerEY, yaithZ ZHe] 27]& 30°




